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Find the extreme value of the function x3 + xy? 4+ 21x — 12x2% — 2y?
¥ y

Find the maxima & minima of xy—x% —y? —2x — 2y + 4. B ry
Find the point on the plane x + 2y + 3z = 13 closest to the point (1, [, 1).

Find the equation of the tangent plane & normal line to the surface z = 2x% + y2 at the point (1, 1. 3).

Evaluate ﬂ’ x% dA over the region in the first quadrant enclosed by the hyperbola xy = 16
y=x,y=0and x = 8.

Change(Reverse) the order of integration and evaluate

ful f;ﬁzx dy dx Page: 1



16 Find the area of the region R enclosed by the parabola y = x? and the line = x + 2.

- » poz 3x+5
17 Check the convergence of f4 oy dx

¢ log(x—a)
18 Evaluate hmx_.a m

d(u,v)
a(r.6)

19 Ifu=2xy.v=x%-y? where x = rcosf,y = rsin find

20 Evaluate fol foz—x foz—x_y dz dy dx

Note: Submit assigned Term work on date 19/11/15.
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